FEBEEME TLE 2RGEH § 0 SRR

- FPY 14 E27 8P (EHT) 1R
S FEE I RAMRERR S

ERNITS SUE

(=) vk gst14
lLALE § 3 2 0 g3 ~ P ~ 84030 (G 398)
204 € R 3 T BB - BRiR o dR4TRGGE35E)
R T R B daaT s Bk (G 49T)
4. R =30 BB o~ Big s 240k - Bk (2R 498)
(=) =F 63263
l.ag § 320100 2% ~200 =2 ~400 =~ = ~800 = = ~1500 = = ~5000 = = ~10000

2%~ 4X100 '??#«%4 ~4X400 2 R R4 (GR9 )
2.7 ¢ %+ F 2 100 == ~200 = = ~400 = = ~800 = = ~1500 = = ~3000 = = ~4%100
??#%-4 ~4*400 Drgpd (38)
e (P69 E =t w did %) 110000 2 2 (1)
027 ~100 2% ~200 == ~4%100 = = 34 (3-4358)
027 ~100 2% ~200 == ~4%100 = = 34 (3-435%)
(=) H%%LFLL FRERFRAMS » iipM R Lo
(=) sz
LA g e 13 et b (U R 101 &) B e 5 2 Ed 7 S o
2.74# 5 F e 40 R (R T4 & =0 L) e
(=) &P ~ 4k
L& - @ f et =30 5 LGRS R R ) e
ZM‘mﬁ_iﬁmw ‘Ea‘ﬁﬁ MLz AR R4 - 46 4 5
8.5000 2 = Baga ~ 10000 2 < BepasEp o FH 4R £ 54 5o
NI :;%m%ﬁw | % = n,i*&%;%’%ﬁ
= o~k %;’e:c,; :
(=) R ¢ FAR G BATE L2 RR -
) R FEAIR R FRPIR T -
(z) wFRT:
LEFFARASEAE  d ZXERPEPT > WP AR AE 3 AEP A OF
F R WA B F o A RS
2.0 FADBAE - BALRFF(REHREF 0 35) ¢
M Fle FE o~ dEEIR &ﬁ%iwpsﬁﬁrL%’A4&3~ﬁ = < o P
BACHRE D o g RN A 2 ngb °
X FEHEAP o FIERM o Y 1 ARz ATl

¥}



= B BRI AR S SRR
NP SR R RER AR R L - R A



